x+y=12, x—y=-8 & I, xy 9] F-= F5toi=}.

> E:

> He 20

B

(x+y)? —4xy = (x - y)?
144 — 4xy = 64

—dxy = -80

coxy =20




7
o: @ ®

N~

@ 14

= b
a, bolHstol atb=3,a*+b*> =7 L W, §+; o a7

® 16

@® +b* = (a+b)* - 2ab
9-2ab=17
sab=1

b 2402 7
a+—:a+ :I:7

b a ab




3.

x+y=3,xy=-4L 0, (x-y)? 9 F2?

@® 20 @25 ® 7 @ 5

® 10

(x=y)2=(x+y)?—4xy=32-4x%x(-4) =25




S 4g A5Rastoler,

3a® — 3b? — 8ab + 5bc + 15ac

> E

> e (3a+b)(a-3b+5c)

(F4]) = 3a® — 8ab — 3b? + 15ac + 5bc
= (3a+b) (a—3b)+ 5¢ (3a+ b)
= (3a+b) (a—3b+ 5c¢)




20 - 2y & AFRafotn?
@ (2x+ 3y)(4x - 6y) @ (dx + 6y)(2x - 3y)
® 2(2x+ 3y)(2x - 3y) (@)%(zx 3y (20— 3)

® %(2)6 + 3y)2

= %(2x + 3y)(2x — 3y)




S 4g A5Rastoler,

2a® — 2b% + 3ab + 6bc + 3ac

> E

> HE D (a+2b)(2a-b+3c)

(£4]) = 2a® + 3ab — 2b* + 3ac + 6bc
= (2a - b) (a + 2b) + 3¢ (a + 2b)
= (a+ 2b) (2a— b + 3¢)




cCt "
[= B}

| 2
D> EHED P+ x+y)(x-y)

xt—y?

=+ -y) =@ +y)(x+y)(x-y)




8.  x'-5x +49] 157t obd A7

D x-1 @ x+2 @ x+1 @ x-2 @x—4




9. 42?148 ASEHG (ax?+b)20] AHL T W), a+59] S
Fstolel. (2 a > 0)

A+ 4= () +4(x%) + 4= (x* +2)?
g2t a+b=142=3




sholat,

s

x=2- V3L x> -4x+5° G

10.

(x> —4x+4)+1
x-2)2+1

x2—4x+5

2-V3-2)2+1

-V3)2 +1

3+1=4




11.

a=1+ﬁ,b=1—«5w1,9—g9m%?
a

D -4+2 @ -2V2 ® 2v2
@42 ® 62

B

ab=(1+V2)(1-V2)=1-2=-1

a+b=(1+V2)+(1-v2) =2

a-b=(1+V2)-(1-v2)=2v2

b -a> —(a+b)(a-b)
ab

42

==
. -2x2V2
==

QS
SR




12. a=V3-4,b=24++V3, c=3-V3 L, a®-ab+ac—bc 2 <
“Fotoi et

()

=a(a-b)+c(a-D)

=(a-b)(a+c)

= (VB-4-2-+3) (V3-4+3-5)
= (-6)x (1)

=6




13.

@® 57x? cm? @ nx(x+5)cm?

@nx(x +10) cm? @ nx(2x+5)cm?

® nx(2x + 10) cm?

o] Zol7t 5em Q1 YollA §12]52] Zol& xem

a

r
il
il
iy
=

~&B

(St 5-2] Zoj7F 5em 1 €] Hol)

=7 x 52 = 257( cm?)

(FF2] 59 Zo]& xem WE &9 €9 Wol)

=ax(x+5)?2

wat A, Soldt Yol

ax (x+5)% - 251 = n(x% + 10x + 25) — 257
= 7x? 4+ 107x + 257 — 257
= nx(x + 10)( cm?)




14.

®©S=@r-anr @ S =(a®+rn
® S =a(r+3a)r @S =a(a+2r)n
® S=(a+r(a-rr

~&B

S =(a+r)n-rn
=n{(a+r)?-r?}
=nla+r+r)at+r-r)
= an(2r + a)




15. o 239 HAAZHE ABCD & A|29) T

°© §\\
Aol7k x, 7k29] o7k y ©]31, DABFE AL~
¢} OGFCH 7} 25 gAtzrgolet. o o, G H
oEGHD ¢] Yol=? (H x<y<2x) \
B F C
@—2x2 + 3xy —y? @ —2x? - 3xy—y?
® 2x? - 3xy —y? @ 2x2 + 3xy —y?

® 2x% + 3xy +»?

~&B ~

o2 T1”lolA Y
(0EGHD] Wo|) = (7}&) x (N 2) - 29;-;,]3 —D
=0-x)2x-y) | H
2 2 1 / G
=2xy —y° - 2x° + xy, Y-z
\ y—x C

:_22 3 2 \
A3y -y B




